Math 242

Quiz 8
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2. How large should n be to guarantee that Simpson’s Rule S, is within 107 of f_31 ze® dx.
The fourth derivative of f(2) = ze® is f¥(z) = (2 +4)e®. The error estimate in using

Simpson’s Rule is

K(b—a)®

Ed| <
|Bs| < 180n%

Y
\ £ m\ - \m@é\ = |xxal fe<| ¢ 3.
ot v\/u.a Lates Jé-:—-?..e_g
2 = 4
‘ . Fe () s’ < W
I e S TP e i
= T [
[R51<P) . AP :f.f';(q{ o
2 3 —'__—"{0 < B
:’-—C (4( ¢ [Q.-L{ \ R <Ye)
L6 W Len i"Jr‘{)ﬂf

Ol N

G\f\a

n &4ﬁfw€"1\'v\() s

where |f®(z)] < K for all a < z < b.
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